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1.1 (3)
by-4 =36+y
by—-y =36+4
Sy =40
X = 40/5
x =8 (c2¢03)
1.2 (2)
890 o8 (1) = Pnr P =45000, r=8.0% =0.08, n =3
= 45,000 X3X0.08
= ¢7.10,800
(cz2g 03)
1.3 (4)
Il
IV
»
OB Jersrd
13
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(czpeg03)
14 (2)
;=395 A;=38—-20=18 C=10

Ay =38—-26=12
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A
@mcs(M):Li+[ 1]xc
o Ay+A,

M —395+[ 18 ]xlO
o 18 + 12
M, =45.5 (G2 03)
1.5 (4)
@RI BoREHWDS I = Ny xy-Yx.>y
VnZx2- £x2) (hZy?*- (Ty)°)
ro= 6 X 5,190 — 105 X 240
\ (6 X 2,275 - 105%) (6 X 11,870 — 240%)
= +0. 9934
(c22503)

1.6 (1)

Q=1%100

do
85
Q= =5 X 100
=170%
(cz=¢503)
1.7 (1)
E(X) = 3XxP
=(1x0.30) +(2 x 0.35) + (3x0.15) + (4 x 0.20)
=2.25
(c2<503)
1.8 (2)
S=X1+r/N)y™N x=15000 n=3 r=012 N=4%
S = 15,000 x (1 + 0.12/4)3%4
S =21,386.41
S =21,386
(c222503)

102/BMS 2 (102) £59e99629 ®€BE €389 €50RBIZICS



1.9 (3)
T=2,759 - 177x

2022 &bww wew X8 aons 7
C.T=2,759 - 177x7
=1,520

(cz¢g 03)

1.10 (2)
SdoRped 830w =2 X 3,680 = 513,200

(ceeg 03)
1.11 —> (3)
(1)
—> (4)

—> (2)

o O m >

(92 EB900 01 ;87 cepei 04)

1.12
1. e30@ e3e®®d Bwé®

2. B3 @18 Be@®
3. @ dT Bwe(d®
4. 9O Bs@®

(ce 02)
113 S, =2{2a+ (- 1)d} =-4, d=7, n=20
S20=2{2 % (-4 + (20 - D7}
Sy = 10(-8 + 133)

=1,250

Smde 880y
sCcY ves  =-4
20 OB e =-4+(19%x7)
2

=1
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Szo:? (a+

= 22—0 (—4 + 129)

=1,250
(c=2e502)
1.14 gemsd
(c2e501)
1.15 esmsed
(c2e501)
(80 cag 40)

A @208 GOzt

102/BMS 4 (102) £59e99629 ®€BE €389 €50RBIZICS



02 O gafzncs es¢wr ewIdy oo

‘ 880edec 01 - §Bm oBe somde wew Eb®

(a) 8x+3y=42 ———— (D
5x+2y=27 —— (2
(D x2=16x+6y =8 —— (3
(D x3=15x-6y =81 — (@
®- @ =84-381
x =3
(D 8x3+3y =42
3y =42-24
3y =18
y =6
(cme 04)
‘ 880edec 01 - 9B 0w savcls w». edb® ‘
(b)
01 & ®cs
01 O Dbk adeimed ©itdm &1cin® ='e. 75,000
05 92 B0se gdeImed Dafdn $0cHw®,
S=X(1+n)"
= 75,000 (1 + 0.05)*
= 75,000 x 1.05 *
=91,162.96
02 &» m®xs
Y1 = 75,000 = 75,000.00
Y2 = 75,000 x 1.05 = 78,750.00
Y3 = 78,750x1.05 = 82.687.50
Y4 = 82.687.50x1.05 = 86,821.87
Y5 = 86,821.87x1.05 = 91,162.92
(cme 03)
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o8Ded¢a 7 - ¢bmemor ww gedkommas)
(c)

q1 o P1 Po Podo P1do
A 450 600 120 80 48,000 72,000
B 300 400 250 175 70,000 | 100,000
C 850 750 60 40 30,000 45,000
148,000 | 217,000

_ Z P X qq
c¥8usl 8 ¢bawas (LP) = &=——x100%

2. Po %0
217 000
= X 100%
148 000
= 146.62%
(cmeg 03)
(9o czeg 10)
3 &» galma ecwr oISy coIoo:
‘ 880ed¢cs 03 - Op15a0 e5¢®I QOB DI eCoDwGE HwbiniSid Sz ‘
(a) @& 88o1s (TC) B = BORnB8BD18 + 630006 88013
= - g+ 24q + 100,000
8O @1¢93® (TR) Bow =8 x I oeam
=1(49Ja)q
="49q— ¢*
(cag 03)
d (TC
(b) @538 830 (MC) e = (dq)
d (TC) "
=-q°+24q+ 100,000
dq
MC =-2q+24
d (TR
205382 ¢aocs® (MR) Eocs -4 dq)
AR | 49q— 2
1 499—q
MR =49-2q
(cag 03)
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(c) w@Bedcr cevedl;
TR=TC

49q— g2 = - g° + 24q + 100,000

49q — 24q = 100,000
25q = 100,000

q = 4,000 Sz

. ©0Dedcm S v = S 4,000

4 O gt esewI ecISd Do

(ceeeg 04)
(&0 c2eg10)

‘ 880edec 05 - @538 SOES o¢me eotszicznas HE@

(a) IX=104, 3Y=139 , 3 XY=2,116, 3 X?=1,466, n=8

X y x?2 Xy
8 5 64 40
10 10 100 100
9 8 81 72
12 15 144 180
14 16 196 224
15 20 225 300
16 25 256 400
20 40 400 800
104 139 1,466 2,116

_nYXY- YXYY
T nyXxZ- (¥X)2

_ (8x2,116) -(104 X 139)

b
(8 X 1,466)—1042
16,928 - 14,456
"~ 11,728 -10,816
2,472
b = —
912
b =271
a = Y-bX
_ ey bex
- n n
= 2 71x2
8 8
= 17.375-(2.71x 13)
= 17.375-35.23
a = -17.86
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58 0encs,

Y=a+ bx
Y =-1786+ 2.71x
Y =2.71x—17.86

(czg 07)
(b) ©3©10ew Bwec® (. 25,000/-.
X =259,
y=2.71x-17.86
=(2.71x25) - 17.86
=67.75-17.86
= 49.89
aed8n Dna® Jo o = 49,890
(czeg 03)
(80 ce 10)

5 &2 gl e3¢ oIS oo

‘ o80edes 04 - ¢ 988 588 v Bedocrdtn z® ‘

o538 ©8® f x fx x2 fx2
40-49 35 44.5 1,557.50 1,980.25 69,308.75
50-59 22 545 1;199.00 2,970.25 65,345.50
60 - 69 28 64.5 1,806.00 4,160.25 116,487.00
70-79 24 74.5 1,788.00 5,550,25 133,206.00
80-89 26 84.5 2,197.00 7,140.25 185,646.50
90-99 15 94.5 1,417.50 8,930.25 133,953.75

150 9,965.00 30,731.50 703,947.50

(a) @ = Y fx
2 f
= 9,965

150
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2 J—
(b) e2®®» ge0®m0 = sz; - X

=\/703,947.50 66432
150

=\/4,692.983 - 4,412.945

=+/280.038

(c) BOc» sogenms (V) = @@n guo®mxs X 100%

®BBB»IS

(cg 04)

(cmg 03)
(80 czpeg10)

B o0& edesrzncs
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6 &2 galzns e3¢wI ewISy o

‘ 88edec 2 - Opesad es¢wy B odBoa

(A)

(a) 2®c 01:
R" (R—
A =SRER-D
RM—1

120,000 x(1+0.08)3 (1+0.08—1)

(1+0.08)3-1
_12,093.2352
T 0.259712
= 46,564.02
D®cs 02:
DB oo
Obmes 0 08 e 8c8 Gee D.F. (8%)
8¢e
0 120,000 - 1.000 -
1 - A —]
2 - A r 2.577 2.277A
3 - A .
2.577 A=120,000
120,000
T 2577
A =46,565.77

(czeg 03)

(b) n@Pecs eCRewcs :

Shmcs g6®wedt eods | @®dve gy emBe | Ddm §¢c gOemed? eadas
a2 8¢C (8%) a2 8¢C
1 120,000 9,600 46,564 83,036
2 83,036 6,643 46,564 43,115
3 43,115 3,449 46,564 -
(cg 03)
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(B)

‘ 880edec 2 - Opesad es¢wy B odBoa

(a)

| 0 1 2 3
B3 01
§eG ©ons (500,000) 200,000 200,000 200,000
D.F. (10%) 1.000 0.909 0.826 0.751
D@1 8®w (500,000) 181,800 165,200 150,200
NPV (Bz=cEew 01) (2800)
Bwcen 02
8o g (350,000) 150,000 150,000 150,000
D.F. (10%) 1.000 0.909 0.826 0.751
D@1 @ows (350,000) 136,350 123,900 112,650
NPV (8mGss 02) 22,900
(c=< 06)
(b)
8css. 01 BaEes 02
RAlCIeH ISt 500 000 350 000
NPV (2800) 22,900
e NPV gos dxned 6722,900 @853 SwcEens 02 emicios ¢z .
(ce 02)

(€)

‘ 8800dec 6 - e8oTeO 9 e@DITE @wc®

(a) A - Bosen Edd D o@D
B - Buswn gewiBn =8 sens ¢e@s38e

P(A) =% P(B)=1/3 P (ANB)=1/4

P (B/A) — 8g30 Cd» Bvow @055 80 yewiBn «lfvems 030e® ©®®iSmdw
b(g/a) — PCADB)
(B/A) = —5eas
_1/4
C1/2
1 2

= — X —
4 1

2 1
== e -
4 2

(cze 03)
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(D)

‘ 8800dec 6 - e3®@0Tm98 @9 e®WITed ewe®

X: @dfwed eugm eco@sied dd (Kg)

pu=2.5 0 =0.45

X —
Z= a
[}
X -25
T 045
_3-25
T 045
z=111
0.3665
0.5-0.3665=0.1335
X
25 3.0
Z
0 +1.21

Pr(X > 3) = 0.5 - 0.3655

0.1335

=13.35%

* 008 ediwed aad ol €¢0Pned a0 3 kg 08 9188e® ©®0idmd® 0.1335 e
13.35%.

(czeg 03)
(8¢ cz2g 10)

C e200ee8 gOesszncs
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Notice:

These answers compiled and issued by the Education and Training Division of AAT Sri Lanka
constitute part and parcel of study material for AAT students.

These should be understood as Suggested Answers to question set at AAT Examinations and should
not be construed as the “Only” answers, or, for that matter even as “Model Answers”. The
fundamental objective of this publication is to add completeness to its series of study texts, designs
especially for the benefit of those students who are engaged in self-studies. These are intended to
assist them with the exploration of the relevant subject matter and further enhance their understanding
as well as stay relevant in the art of answering questions at examination level.

© 2021 by the Association of Accounting Technicians of Sri Lanka (AAT Sri Lanka). All rights
reserved. No part of this document may be reproduced or transmitted in any form or by any means,
electronic, mechanical, photocopying, recording or otherwise without prior written permission of the
Association of Accounting Technicians of Sri Lanka (AAT Sri Lanka)
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